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o = - Ol &b o & E &0l AFSH =z A = _
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600
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610
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611
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611-1
DIFSE=4 21,322,933 21,515,553 A 192,620
o JIE : 23,20094X76,119& X128 = 21,191,529
o A& 1 23,20024X708% X8 = 131,404
611-2
He= 7,778,044 8,179,832 A401,788
o JIZE : 107,000&X5,991& X128 = 7,692,444
o &I& 1 107,000 X100 X8 & = 85,600
611-3
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O 75mm0| &t (614,250)
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O 75mmO0| A (95,550)
o 13,650,00091 X7 & = 95,550
O 75mm0] Bt (27,825)
o0 525,000 X53& = 27,825
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O Hes8Z A =5 (40,000)
o 40,000&X1,000&] = 40,000
614-3
&g 44,600 8,000 36,600
O A UHUs(sSh.oE. 24) (44,600)
0 22,300&X2,000& = 44,600
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621
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620-2
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o 30,813,577,000&X2/100 = 616,271
O o=z ditxelslE 283 (109,862)
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2:(100) X 8:(220) HIRSREMa ME:(223) NAMLIZ2 S:(001) Al - &2 (e &)
_ _ &F o S E - 0ff &k K s & = =
ERERE R i (8) (A-8) e &8 =
O EXu= (1
o 1,000& = 1
320
2oz 2,735,555 1,200,363 1,535,192
321
NE=Ea=a= 1,521,054 957,362 563,692
321-1
NEZEYZ 1,521,054 957,362 563,692
O MEZA (1,283,555)
o 13mm : 386,000&X704& = 271,744
o 20mm : 911,000& X85& = 77,435
o 25mm : 1,426,000&X50H = 71,300
o 32mm @ 2,339,000&X30A = 70,170
o 40mm : 3,656,000&X25H = 91,400
o 50mm : 5,713,000&X20H = 114,260
o 75mm : 12,859,000&X20M = 257,180
o 100mm : 22,862,000& X10& = 228,620
o 150mm : 51,446,000& X1H = 51,446
O HEZSA (287,499)
o 75mmOl &t : 22,862,000&X7& = 160,034
o 75mmOl 8+ @ 2,405,000 X53& = 127,465
322
Els HAEEXRZ 1,214,500 243,000 971,500
320-1
e = 1,000,000 200,000 800,000




2:(100) A4 &:(320) AH=2d02+2 ME:(322) EISIHAEEERS S:(001) 208x23 (2 &&H)
= - Ol &F oA & E O] Ak = 2 _ ~
ERERE R (A) (8) (A-8) e &8 =
O NEEXeANESA =218 XZ (1,000,000)
o 1,000,000,000 = 1,000,000
320-3
A - EHIEXS 214,500 43,000 171,500
O D38 =XHelANd THIEEXZ (214,500)
o 214,500,000& = 214,500
323
TARY2 1 1 0
323-1
ElSl HSAIRE = i 1 0
O Exs (1)
o 1,000& = 1
420
JIEt =2 ¢ i 1 0
421
JEFRI 2 & = i 1 0
421-1
JIEHRFE R 20 1 1 0
O Exs (1)
o 1,000& = 1
500
SN 85,500,000 79,352,000 6,148,000
510
2T 85,500,000 79,352,000 6,148,000
511
dEzola2 83,000,000 77,500,000 5,500,000
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2:(500) 2B &:(510) EXTHI ME:(511) MEZ0IEZ

& 2:(001) MHAZ0IE2 (&e:dd)
AF OH @l.‘j': /nll'OH = 2F - —
B.gNE - e S I « =8 =
(A) (8) (A-B)
511-1
HMEzo|a2

83,000,000 77,500,000 5,500,000

O =MALH= (83,000,000)

o 83,000,000,000¥ = 83,000,000
512
B =48IH004 2,500,000 1,852,000 648,000
512-1
ME=2I10143 2,500,000 1,852,000 648,000
O HEE =EIH01=32 (20114 0I&Z) (2,500,000)
o 2,500,000,000& = 2,500,000
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